A

AN AT
B AMHNLS
el LB AL A |2 CREE)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Pab=puN= i 24,903, 165 23,413,954 1,489,211
= 1,103,379
iy 5,031,640
= 597,999
iy 18,170,147
AL8H2A 607,422 545,177 62,245
AVt A LMY XA 14,889 14,607 282
E2UNEE ZAXA 6,084 5,802 282
101 Q14 d| 4,984 4,702 282
10 JIZHZ2XNEES 4,984 4,702 282
OCRDESXA Y
34,610 * 48021 x 3 4,984
201 2Bt2AH| 1,100 1,100 0
01 AtR222idl 1,100 1,100 0
Oletx=&dl] 1,100
OUWESEHTA 2HE HI&
50,000& * 2201 A 1,100
SFMHA 2Hel29 5,295 5,295 0
201 2et2AH| 5,295 5,295 0
01 At222/Y| 5,295 5,295 0
Olger+gY] 5,295
ORSMARY QASY 248
105,900 * 50 X 5,295
SZ 0I8STI 3,510 3,510 0
201 2Bt2AH| 3,510 3,510 0
01 AtR22ldl 3,510 3,510 0
Olger+gy] 3,510
OMOIEs2 0l18S)| =&
58,500& * 60 X| 3,510
Jt2 83 &l 592,533 530,570 61,963
z2s 22| 563,338 498,570 64,768
201 BerEAH| 332,304 332,304 0
02 3294l 332,304 332,304 0
Ol222=2 % HAI 332,304
o289 Jt2s dIIe3
4,800& x 5,769.16S * 12& 332,304




fAN: AL D

HH: ASHTRY
ool D2 EEF Y| Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
401 Al HIZ 20| 231,034 166,266 64,768
01 AI&HI 229,910 165,510 64,400
O[Al&HI] 229,910
OFHYX Jtz2s 4xXl 500,000& * 745 37,000
oL IS &3 500,008 * 205 10,000
OJNZ2s 0I& 300,000& = 408 12,000
OJIZ2E A (HI)wH
125,100& = 100S 12,510
OFNMYE Eots WAl 68,4004 * 1,000 68,400
OFI| QHFAD O +SHBI| DA
50,000& * 200= 10,000
OJZE SNEL HH2
47,5003 * 8,421 * 20% 80,000
03 AlZ=C0HHI 1,124 756 368
ORFE 20S TH 20l
68,400,000& * 0.90% 616
OF%X ¥ @A 2 &3l LY
47,000,000& * 1.08% 508
z02 22 29,195 32,000 A2,805
401 AIEHILROYI 29,195 32,000 A2,805
01 Al&HI 29,000 32,000 23,000
O[Al&HI] 29,000
O8 %3t HAL XS8 B
3,000,000 = 20H 4 6,000
O3 HAL A&
9,000,008 * 2)H4 18,000
OB £ HAD 24
2,500,000& » 2082 5,000
03 A& =0 195 0 195
O# %0 HAIK A& 2Oyl
18,000,000& = 1.08% 195
S Z AL 2t 4,691,174 6,023,576 A 1,332,402
s 464,500
i 4,226,674
2R 2el 949,574 1,170,280 A220,706
czgxzel 64,850 34,503 30,257
201 Ysr2gyl 28,500 28,243 257
01 AR 2&cldl 6,000 6,250 A250




fAN: AL D
M T Ag2

ool s (sl a e
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
Olger+2Hl] 6,000
OZEC U SHEZE B X
25,0002 * 240% 6,000
02 BB 22,500 21,993 507
O[A&ZZHIRXbI] 6,700
OS2FHIBEDI, MZI, 22RE
1,383.712 * 2,1684 3,000
OSZFHISEL, =D, 2242t
1,350,0002 * 23l 2,700
OBEMTE= HEI| RN
1,000,000 * 14 1,000
Olxg . Het] 15,800
OE224+E U R
500,008 * 122 6,000
OZ28A X SXHl 400,002 * 122 4,800
OE2EE ¥ BINET Y KA
416,660% * 122 5,000
206 THEHI 6,350 6,350 0
T 6,350 6,350 0
OZE2FHIS H=I 7 350,0002 * 1CH 350
OEEHAN-EAEHSHLATH Y
500,008 * 122 6,000
405 XharzE S| 30,000 0 30,000
01 KALSEFSH] 30,000 0 30,000
O=E2=% ¥ #$INE W27
30,000,008 * 1k 30,000
EL R 11,850 8,850 3,000
201 sty 2,850 1,440 1,410
01 ARae|t] 1,650 240 1,410
O[A&ZHIRXbI] 300
O4+2¥ AL B2 7Y
50,0002 * 3% « 20 300
Olm=hI] 1,350
042 I=H| 150,0008 * 9@! 1,350
2 IS 1,200 1,200 0
OlBZRILHAM] 1,200
O4ZAYIAL LS ZSDYIIHIIQS

100,000& = 12 1,200




fAN: AL D
M T Ag2

Che: 28X (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
206 H2H| 6,000 5,460 540
01 a4 6,000 5,460 540
OREXAE Hotzs 7Y
300,000 = 10€ 3,000
ON&E 224 ¢ 25,0002 * 120m 3,000
401 Al&HILLCHYI 3,000 1,950 1,050
01 Al&H] 3,000 1,950 1,050
Ol AI&HI] 3,000
OLONTHR =ALE A X 500,000 * 6K 3,000
CE2AH| 872,874 1,096,837 A223,963
206 24l 16,750 16,663 87
01 XZH 16,750 16,663 87
OE2 AE4E A2 2Y
54,0008 * 203.7€ 11,000
OE2 A48 E5E 2
15,0002 » 333.3IL[H 5,000
OEZ2 AIE4E OtAHE 2
75,0008 » 10E& 750
401 AlSHIL2HY] 856, 124 1,080, 174 224,050
01 Al&H] 845,000 1,072,200 A227,200
O[Al&HI] 845,000
OE2EX B Y| 1,000,000 * 1004 A 10,000
OWM=EXE E2H & AX
1,000,000 * 5JH A 5,000
02 AIE42 HIISHe
28,600 * 524 47 15,000
OE2AIMEBS AY 224, 21591 * 223a 50,000
OZT W2 U2+ B4
20,000,000 * 1J0HA 20,000
OsSHETZ W L2gs
25,000,000 * 104 25,000
OHIZETZZ X22I|(118H,23])
20,000,0008 * 112 220,000
OE2H =3HFH| 9,090,900& * 118%™ 100,000
02E X M 2,500,000 * 20km 50,000
OSHEZZ Xtd TM
2,500,000 * 20km 50,000




fAN: AL D
M T Ag2

ool C2RX e (crel a2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
02& |zl A
2,000,0002! * 100kn 200,000
OS0ETR SNZ2l A
2,000,0002! * 50km 100,000
03 Al&S 0| 11,124 7,974 3,150
OHIZFE2 XZ2I| =iyl
330,000,0008 * 0.72/100 2,376
OZ28# =33 20|
330,000,0008 * 0.72/100 2,376
OZ% UL SHEE2 HHATAH S|
330,000,0008 * 0.72/100 2,376
OZ& ¢ S0E2E2 X2z 20l
555,000,008 * 0.72/100 3,996
NHEX el A 1,064,000 1,385,073 A321,073
= 464,500
= 599,500
918 C 24 ALY 371,000 595,073 224,073
7 118,000
= 253,000
401 Al&HIL=HY 371,000 595,073 1224073
= 118,000
z 253,000
01 A& 369,302 592,769 1223467
OlEXI I 135,000
03& JISX? EX 24|
48,214,285.7% * 2.8kn 135,000
O[AI&HI] 234,302
02 JISN? ABCE NHAAEY
234,302,002 * 14! 234,302
= 117,151
2 117,151
03 Al&S0| 1,698 2,304 606
O2H JISEXNT T2 MLA LU
235,800,0002! * 0.72% 1,698
2 849
= 849
01210l 257 LAY 693,000 790,000 A97,000
= 346,500

M

346,500




SA

A TH &t

MM T2Ala2e
Sel: ISX nsael e (A2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
401 Al&HIZ=20HY] 693,000 790,000 A97,000
= 346,500
= 346,500
01 Al&H] 688,636 785,023 96,387
O[AI&HI] 688,636
OO0l B532Y & A (BIHKIT)
688,636,0002 * 1Al 688,636
= 344,318
= 344,318
03 AlX=0HHI 4,364 4,977 AB13
O02io] 25329 HEAMY 204l
692,600,000 * 0.63% 4,364
= 2,182
= 2,182
2 T2 &= 708,820 1,126,252 NA417,432
Hot FAS-MEIL ZE ESILE DA 3,600 0 3,600
401 AlSHI LY 3,600 0 3,600
03 AlE=0HHI 3,600 0 3,600
OgY FS-NH2 2 SIIE ZA 20
Bl 500,000,0002 * 0.72% 3,600
TA AMEH-GHEZ B SEI DA 402,880 501,380 298,500
401 Al&HILLCHYI 402,880 501,380 298,500
01 Al&H] 400,000 498,500 298,500
O[AI&HI] 400,000
OTZAM MEH-I&2 2E SHEIHDA
400,000,0002 * 1Al 400,000
03 Al&=20iH] 2,880 2,880 0
O2AN AEEH-IE2t 2 BEIHIA B
CHH| 400,000,000 * 0.72% 2,880
TE TMNRI| ZA 201,440 201,440 0
401 Al&HIL=20HY] 201,440 201,440 0
01 Al&H] 200,000 200,000 0
O[Al&HI] 200,000
0T M| A&
80,000,000 = 2.5km 200,000
03 Al&=0HHI 1,440 1,440 0




c AT
D EE2AIA AL
D 2E E2Y E=E

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
SEEETERIETT
200,000,008 * 0.72% 1,440
T 2L THIA 100,900 60,232 40,668
401 Al&HI L= O] 100,900 60,232 40,668
01 Al&H] 100,000 60,000 40,000
SINEED 100,000
OZ&E 2 EEIA AL
20,000,0002! * 5kn 100,000
03 Al& S CH| 900 232 668
ORE 202 TZZA ALY
200,000,0008! * 0.45% 900
ECR TR 25 968,780 2,341,971 A373,191
o SH-MHI SHECE HEFBA 653,780 502,880 150,900
401 AlSHIL 20 653,780 502,880 150,900
01 Al&H] 650,000 500,000 150,000
SINEED 650,000
0YY BW-LF SHECE HTIT
A 650,000,008 * 14} 650,000
03 Al&STHH] 3,780 2,880 900
OYY ST-AY SHEE2 HTYBA
= H | 600,000,008 * 0.63% 3,780
= CYN-SASY SHECE HTYIA 500,000 0 500,000
401 AlSHIL O] 500,000 0 500,000
01 Al 500,000 0 500,000
OlEXHLHI] 200,000
ONE HYF-SHSH SHECE 2T
BTA EXOH Y 66,666,660 * 3kn 200,000
OlA&HI] 300,000
ONE HYUF-SHEN SHECE =T
&2 A 300,000,00021 * 14! 300,000
o NE-ZEN SHECE SHEFTA 500,000 0 500,000
401 AlSHIL SO 500,000 0 500,000
01 Al&H] 500,000 0 500,000
OlEXIMLH 2 AlEHI] 500,000
00l ME-ES2 SHECE HTIT
At EXIHEI 2 Al BI500,000,0009 * 1A 500,000




SA
X XH .
(=

chel:

A TH &t
S AL 2

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SR BEMAMY NYETZ A& TBA 100,000 0 100,000

401 AN&HIL2HY] 100,000 0 100,000
01 Al&H] 100,000 0 100,000
O[EXHHI] 100,000
OYAZ SBAXMIMY NYTZ ALT

A EXI 2 A 100,000,0008 * 14 100,000

SE-ZY DNEIE NYEZ HABA 65,000 0 65,000
401 A&HILSHY] 65,000 0 65,000
01 Al&l 65,000 0 65,000

OII=ZAE A 65,000
OST-FY N&AC VY2 HEZ

A JIZEAHEHE 5,000,000,0008 * 1.3% 65,000

A2 RA-OISSYN SHEZR STHBA 150,000 0 150,000
401 N&HIYL2HY] 150,000 0 150,000
01 Al 150,000 0 150,000

O[MAIZNE L Z2&HI] 150,000
OUE DA-0I2SY SOEE HEEEZ
Ab ALALE H I 150,000,008 * 14} 150,000
SHPH L3l 8,031,382 7,921,300 110,082
z 2,855,940
= 303,899
= 4,871,543
JIBAIE RRI24 45,600 30,000 15,600

JIBHAIE ZHIXIR ALY 30,000 30,000 0
201 Ler2y| 30,000 30,000 0
01 A= 2telt] 30,000 30,000 0

olgxz] 30,000
OANHT 5224 ZHIYRHY
250,000 * 6IHE! * 20 30,000

BH42 XY ZHIXS 15,600 0 15,600
201 Ler2y| 15,600 0 15,600
01 A= 2telt] 15,600 0 15,600

olgxz] 15,600
ObI+Z Xl BUIYXZ
390,0008 * 41 * 10 15,600




SA
X XH .
(=

chel:

A TH &t

seAMe 23

M-S (3) - HRAY - BES Aro e =2
&l 2tel 10,000 7,945 2,055
StofCH& 2+=FH| SAl22] 10,000 7,945 2,055
201 ZEH2EH| 10,000 7,945 2,055
02 ==29gHl 10,000 7,945 2,055
O[AMEEBISXIY] 10,000
OBrOHCHEI 2 JH| 42l
10,000,000& * 14l 10,000
Bt FHl 2,465,995 4,341,197 A 1,875,202
s 1,860,260
L= 139,519
= 466,216
IS EIIBHEPIAMY 614,958 110,000 504,958
= 572,054
& 42,904
401 AIEHIZL RO 614,958 110,000 504,958
s 572,054
& 42,904
01 A&l 569,481 79,216 490,265
OlAl& Y] 569,481
OJtS2t EIIBHEHI AL (220 Xl 72)
569,481,000& * 14l 569,481
s 529,750
= 39,731
02 Zcltl 41,295 29,794 11,501
OIS 2I|B8tEHIALY 2Zeld]
41,295,000& = 14 41,295
P 38,414
= 2,881
03 AlZ=0Hd] 4,182 990 3,192
OJtS2 4 ZI|BHEHIAIY SO
4,182,000& = 14l 4,182
s 3,890
& 292
S0l &It Y 1,761,044 4,141,197 A2,380,153
s 1,288,206
& 96,615
= 376,223




SA
X XH .
(=

chel:

2 T
SR 23

ot Fdl

SN HH G (EH) - MBAY - BYS Ak ais s
Ofl &4 4
401 A& HIZ=2OY| 1,761,044 4,141,197 22,380,153
s 1,288,206
& 96,615
2 376,223
01 Al&HI ,685,061 3,894,464 2,209,403
O[AI&HI] ,685,061
O=0tRel ZII8rEIAFZ (101 XI2)
1,685,061,000& * 14l ,685,061
s ,227,419
= 92,056
= 365,586
02 Zeltl 69,773 236,190 A 166,417
O= 0t LIIHEHIALY 2ield]
69,773,0002 * 14! 69,773
s 55,819
& 4,186
2 9,768
03 AlZ=0Hdl 6,210 10,543 24,333
O=0tFel EI/etEdIAIY Sl
6,210,000& » 14 6,210
s 4,968
& 373
i 869
ZHEH BHSIIALY 89,993 90,000 NT
401 A 4HI20HYI 89,993 90,000 AT
01 Al&HI 89,190 89,190 0
O[AI&H] 89,190
OESY tSI| SA 89,190,000& * 14 89,190
03 AlZ=C0HHI 803 810 N7
Ogsd otSJ| S At 2Ll
150,000,000& * 0.5353% 803
s&E g 255,000 334,000 AT79,000
s 204,000
= 51,000
St OHHl == AL 255,000 134,000 121,000
s 204,000
= 51,000




SN A TH D
M sAWY 23

Sl =& S0 (29 &e
SH-EFHHA(FA) - NIRAE - BES 01l A+oH ggaﬁ Hws2
401 AZH L2 255,000 134,000 121,000
2 204,000
2 51,000
01 Al&H] 253,164 133,036 120,128
O[A&HI] 253, 164
OBl B4 HLAY
253,164,00021 * 14! 253, 164
o 202,531
z 50,633
03 A& 1,836 964 872
OStLTHEl 24 LAY 20|
255,000,0002! * 0.72% 1,836
- 1,469
- 367
SX JIEEH 3,285,320 2,040,498 1,044,822
2 791,680
[ 59,380
2 2,434,260
20l AXHe| A 261,440 233,434 28,006
401 A&HL20H] 261,440 233,434 28,006
01 Al&H| 260,000 230,000 30,000
OlaAI&E L 224 b|] 60,000
02+0l FXIEEIAY AAl &H
15,000,0002 * 474 A 60,000
O[A&HI] 200,000
02+0l BXIH2 AL 200,000,0002! * 14! 200,000
03 Al&=0HY| 1,440 3,434 1,994
020l X H2IAIY 20|
200,000,0002! * 0.72% 1,440
SRR HEIAY 989,600 1,051,098 61,498
2 791,680
[ 59,380
2 138,540
401 A&HZL=20H] 989,600 1,051,098 ~61,498
2 791,680
[ 59,380




SN A TH D
M sAWY A3

S92 =X JIBEA (Srol:®9)
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
401 Al&HIL=HY z 138,540
01 A& 983,366 1,044,476 ~61,110
O[AI&HI] 983,366
OJIN3t BRZ HEHAY
983,366,008 * 14! 983,366
= 786,693
< 59,006
2 137,667
03 Al&=0| 6,234 6,622 388
OJIHe IXZ LAY 2O
989,500,0002! * 0.63% 6,234
2 4,987
= 374
= 873
AFE SIS FHIAY 1,733,200 755,966 977,234
401 Al&HIL=HY 1,733,200 755,966 977,234
01 A& 1,726,000 748,510 977,490
O[AI&HI] 1,726,000

OsSZ2EXHBAH(ZCI LTS 2H9l)
150,000,000 * 1Al 150,000

OZHi+=2 FHISAH(Z TS A29)

100,000,000 * 1Al 100,000
OdsX+ HEgad HEAL

60,000,000& = 14 60,000
Osdgcl 013t SZ2EISA

50,000,000& = 14 50,000
O&HEel s =2 ZUISAt

30,000,000& * 14l 30,000
O&HEell+ SEti==2 ZHI3A

30,000,000& = 14 30,000
ost&ci+ s2 ZESAM

35,000,000& = 14 35,000
OEL LYTE =2 ZESA

30,000,000& « 14l 30,000
OE2cl YHE Eti== HBISAM

35,000,000& = 14 35,000
O8= NS s=TEZFHSA

50,000,000& = 14| 50,000
OHA L&EXN7 =2 ZESA

30,000,000& « 14l 30,000
OLHE Ot =2 ZHISA

13,000,000& = 14 13,000




SN A TH D
M sAWY A3

R
SN -3H - S2A(2AH) - NRAY - BE= Off &+ o4

OHEE A0S SZEIBA

30,000,000 * 14| 30,000
0ZUnIS 42 FHIBA

50,000,000 * 14| 50,000
OFNE 52 EEBA

20,000,000 * 14| 20,000
0222 =2 TYIM

20,000,000 * 14| 20,000
O=s2 STYT THBM

25,000,000 * 14| 25,000
ool 2F SH4E FHITA

20,000,000 * 14| 20,000
OHSALE E42 THIZA

10,000,000 * 14| 10,000
ool S0H B2 HHIZA

50,000,000 * 14| 50,000
OS2l S 42 FHIZA

40,000,000 * 14| 40,000
OFT2| HEF W42 ZHIZA

20,000,000 * 14| 20,000
O2Z NS 52 HTITA

30,000,000 * 14| 30,000
oulsel 52 THTM

20,000,0002 * 14} 20,000
OB S2EZBA 20,000,0002 * 14} 20,000
OEH2HT SEZZHBM

20,000,0002 * 14 20,000
OB+l 2F 52 THBA

35,000,0002 * 14} 35,000
OUB-2TA 52 EBBA

20,000,0002 * 14} 20,000
OYIIE HH+2 HHIZA

70,000,000 * 14} 70,000
0315F 42 JHIZA

90,000,0002 * 14} 90,000
OfdE I HHEZ FHIBA

30,000,0002 * 14} 30,000
OHM4T OHE SZTYTN

35,000,000 * 14} 35,000
09527 28 S2EEBA

30,000,0002 * 14} 30,000
OAF2 HHZ FHIZA

30,000,0002 * 14} 30,000
ogZ2l SRIHTNM

30,000,0002 * 14} 30,000

20
B
2




SN A TH D
M sAWY A3

ool =X PR (E49: & 2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OUHEdE =2 EXSA
25,000,000& * 14l 25,000
OZE0S E=Z AXSA
25,000,000& * 14 25,000
O24&r 2 HEHIAMLY 25,000,000& * 14l 25,000
O4HXIF JIHSEEZ S ZE DA
40,000,000& = 14l 40,000
OdlE ot= =2 EHHISA
28,000,000& = 14 28,000
O3 &2 <& =2 JUISA
29,000,000& = 14 29,000
ostsel 822 MAH EXSA
20,000,000& * 14l 20,000
Otite| FIS S2EHSA
26,000,000& = 14 26,000
Oshet 2=HM =&£3At
20,000,000& = 14 20,000
O&hdt Z4M0IE SZ2EESA
40,000,000& = 14l 40,000
OtAlts FIE8 Ex2 LSS AM
40,000,000& = 14l 40,000
OHBOIE ¥E == FXS3SA
50,000,000& = 14 50,000
03 A& =0 7,200 7,456 A 256
Ox7E sgJIet ZHIAY R0t
3,628,000,000& +* 0.19845% 7,200
BEX MNUEZ SHEAMY 301,080 0 301,080
401 A& HIZ 20| 301,080 0 301,080
01 Al&HI 300,000 0 300,000
O[AI&HIl] 300,000
OZAX U2 ST ZA
500,000& * 60074 £ 300,000
03 AlZ=0Hd] 1,080 0 1,080
OZ3&X A2 =SHI AL FOHYI
900,000,000& * 0.12% 1,080
FClAMEE RAES 641,944 332,000 309,944
= 105,000
= 536,944
S22 FES3AE 152,000 152,000 0
= 76,000
= 76,000




M AL D
K EH: = Of D9 XN 24
(=R I o-gH o o™

g2
&elr =2lAIEE |X

4 (£49: & 2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

401 AIEHIZ=0Y] 152,000 152,000 0
& 76,000
= 76,000

01 Al&HI 150,906 150,906 0
O[AI&HI] 150,906

150,906,000& * 14 150,906
S 75,453
[ia 75,453
03 A& =20 1,094 1,004 0
O&+2 REL=SeAIY R0
151,900,000& = 0.72% 1,094
S 547
s 547
SHE+ F2XS3AE 151,080 100,000 51,080
401 AIEHIZ RO 151,080 100,000 51,080
01 Al&HI 150,000 99,100 50,900
O[Al&Hl] 150,000
OsgEs+ L= MY
150,000,000& * 14 150,000
03 AIZ=204bI 1,080 900 180
OsgEx A=t ALY 20|
200,000,000& * 0.54% 1,080
FEMeXl JdSESA 30,324 30,000 324
401 AIEHIZ=20Y] 30,324 30,000 324
01 Al&HI 30,000 29,676 324
O[Al&H]] 30,000
OF=M=Xl dctRE SAt
30,000,000& = 14 30,000
03 AIZ=20ibI 324 324 0
OF=M=X OtRE SA 204l
30,000,000& =+ 1.08% 324
F=ClAld 23 At 200,540 40,000 160,540
401 AIEHIZ =20 200,540 40,000 160,540
01 Al&HI 200,000 39,568 160,432
O[AI&H]] 200,000
wClAlE B3 At 50,000,000& = 14l 50,000




M AL D
K EH: = Of D9 XN 24
(=R I o-gH o o™

g2
&elr =2lAIEE |X

4 (£49: & 2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
OXM==Xl==BIH LAY (R 2HHI)
150,000, 000& * 14! 150,000
03 A& =201dl 540 432 108
O=clAld Ex=3 A 204l
80,000,000& * 0.675% 540
teg2d |SX2=dl 20,000 10,000 10,000
401 Al&HIZ 204 20,000 10,000 10,000
01 Al&HI 20,000 10,000 10,000
O[Al&Hl] 20,000
olfg2d R+ 5,000,000& = 4782 20,000
FEMsRl E:AS 58,000 0 58,000
= 29,000
= 29,000
401 Al&HIZ =204 58,000 0 58,000
L= 29,000
i 29,000
01 Al&HI 57,478 0 57,478
O[Al&HI] 57,478
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